R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Steel\DR 433 Opaque Steel Doors\C - Drawings\TX-4637.dwg, TX-4637

STEVES

STEVES AND SONS

203 Humble Ave.
San Antonio, TX 78225

OPAQUE STEEL SINGLE DOOR

w/ or w/o SIDELITES

INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Steel Door system described herein complies with the 2018 International Residential
Code (IRC), Sections R301 & R609 and the 2018 International Building Code (IBC),
Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind-borne debris protection this product is required
to be protected with an impact resistant covering that complies with Section
R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

Allowable design pressure requirements must be equal fo or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.
Conditions not covered by this drawing are subject to further engineering analysis.

1.

2,

TABLE OF CONTENTS

SHEET#

DESCRIPTION

Typical elevations, design pressures & general notes

Door panel details

Sidelite panel & glazing details

Elevations

——

68.5" MAX. OVERALL
FRAME WIDTH

81.5" MAX. OVERALL FRAME HEIGHT - INSWING ——]
0.75" MAX. OVERALL FRAME HEIGHT - OUTSWING =

-
|

37.5" MAX. OVERALL
FRAME WIDTH

f=— 81.5" MAX. OVERALL FRAME HEIGHT - INSWING ——

—~— 80.75" MAX. OVERALL FRAME HEIGHT - OUTSWING =

¢ 2. 20

oy
BT
4L
B O
o
G
Zt?
°
(0]
X
|
|~ 53" MAX. OVERALL
FRAME WIDTH
o | ©
(0] X ©
—_—!

Horizontal cross sections

Vertical cross sections

+70.0

-70.0

Vertical cross sections

Frame anchoring

Frame anchoring

Sle|m|Nfos|o|a|w|No|—

Components and bill of materials

X 37.5" x 81.5" N/A -75.0
OX / XO 53.0"x 81.5" | 6.12"x63.12" | +55.0 -60.0 +55.0 -55.0
OXO 68.5" x 81.5" | 6.12"x63.12" | +55.0 -60.0 +55.0 -55.0

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING 'CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

STEVES AND SONS
STEEL DOOR
PART OR ASSEMBLY:
TYPICAL ELEVATIONS, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

LFS
BY

6/02/20 |[UPDATE TO 2018 IBC/IRC CODE

NOJ DATE

1

REVISIONS

oate: 9/14/16

SCALE: ~ N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4637

SHEET _ 1 oF 10

© 2016 R.W. BUILDING CONSULTANTS INC.



"ON| SINVLINSNOJ aNIgling ‘M'sd slLoz @

2S8LL—d4 # NOILVMLSIORY 40 FLVOLIILYIO SIvI3a SNOISIA3Y :
SY3IINIONT TVYNOISSI40d8d 40 Quvod Svxal 1INV 5004 A8 31vd [ON| | | - O_
T — S41| 3000 2¥i/081 810z 0L 31¥adn| 02/20/9 | L |4 |X|w| ™ [T
‘ oot X18W3SSY 80 Ldvd <= Sl w8
S6SES “14 OOHIDA 0£Z Xog °O'd \R\h@. == s ¥
"ONI “SINVLINSNOD ONIaTiNg N NERENR 2_
¥000 133LS o |&|5|g &
SZTIYOLF *3'd Svxal SNOS ANV S3A3LS G2 ey w &
‘3'd PIWYDS 4 uopuik :Ag peipdeld sjuswnooq 119N00¥d 58 W Iz z
Od,...N -“
w. g -
-4 e ! & ~\
M oY
m .8%- me.W.@.m:-...:-f:a%
\cl'...o.:!lv\...-:c.u #
2 TainHos A NQANALY
.\\o::oo--.:ota . 3 k.\wﬂ w N
o % Sag s o o
~ ¥ % o 4 Zz o) O =
o v O () =
i sqest g [ s (@)
— L w
] =z % 5
5 = Q S
(7]
O
o
_ ()
<
1
[
j o
_ ‘ S
@ &
@ I NN
L
5
LLi

Wl
M~ \QI
/|\ |\ o
/\ |
— oIt
/\ Ry
M~ MMB\ :
® 3| | 53 |8 @
— o =N0 EE
1 © ~©
3 | 3
i -
-]
g3
o i ~| 1% a
5 . : .
o W29°1 T
)] S =
- [ —— W g W
: ® ! %
W =|a
“» ) Olo
) 2 E o
<] — o|o
O al=
(24 oz o *
5 S U
[a%4
LU i |
2 g il 2
S - = 8
= o
- e ®
:m.R. AI'|_
..“,. mw m
: =
E L
[2%4
.. . . AWn
:m O# =il :m m a
<
w el @« zZ
m\\ S =
P i T SEPCIE A s >—
I 4 ¢35
o : ! =1
& 5 > = o o=
T — P 3,
P = o} S8
8 < g zu
V4
B | ® £k
Q<
Q=
b a5
o
. Efe
IHOIFH 1INV XYW 6L @

2-€ 'Bmp Le9p-X1\sBuimelq - D\sio0( [991s anbedQ £ ¥A\[991S-5100Q pabuiH\su| Jo 1daq sexa] - §\lUsuewLIad - SUOS pue SaA3IS\SIUBID\'Y



R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Steel\DR 433 Opaque Steel Doors\C - Drawings\TX-4637.dwg, 3-3

STEEL SKIN

INTERIOR
~N Ay
\§ G
3B |
EXTERIOR
14' MAX. /"1 "\ HORIZONTAL CROSS SECTION
PANEL WIDTH 3/
6.125" MAX. i
D.L.O. WIDTH r‘
p INTERIOR #10 x 1-3/4" PFH SCREW
I (SEENOTE 1)
== 3/8" GLASS BYTE -—
7
¥4 ALUM. SPACER
/ \
1/8" TEMPERED 5
= & /10 GLASS \\ Lo el
o o v 3/ N S N
2 9 1/8" TEMPERED
Z o GLASS
" % O 1/2" OVERALL — SERGbSE
2 = GLASS THK. BUTYL GLAZING ~ BACK-BEDDING
2 Q COMPOUND (ADCO)
= EXTERIOR
o) e
0
o1 ) GLAZING DETAIL
/ ODL Lite Frame
1/
L
I 1.58" ——]
&5 - |
‘ SIDELITE PANEL n _f CUER
Steel 1
STEEL DOOR SKIN: MIN. 0.019" THK.
CORE MATERIAL: EPS FOAM (POLYSTYRENE)
3¢ ) ODL LITE FRAME
HP Polypropylene

NOTE:

1. Spacing for lite frame screws is as follows:
Sides: 4.5" from corners and 11.5" o.c. thereafter
Top & Bottom: 2" from corners.

FOAM CORE

?—’* 1.25" ——-]

1.63"
TOP RAIL
LVL

— 163 ——
Lva'*‘ 3

HINGE & LATCH STILE
LvL

— 163" ——

e
— ]

BOTTOM RAIL
Wood (5.G.>=0.42)

|—71.07'—»

3B

STEEL SKIN

EXTERIOR INTERIOR

FOAM CORE

/"2°\ VERTICAL CROSS SECTION

\3/

Lyndon F. Schmidt, P.E.

Documents Prepared By:

)
o
-
3 2
* a u
Wi Ol ©
e Z b4
= N W
.o
bLe O
£ g2 3
<22 0O
T =
238 B
>
255 &
on® o
O N - o
[+
O Xz ™
Zz 9
Emg (o]
- . [a)
502 ¢
Doa g
= ¢

CERTIFICATE OF REGISTRATION # F—11852

PRODUCT:

STEVES AND SONS
STEEL DOOR

PART OR ASSEMBLY:

SIDELITE PANEL &
GLAZING DETAILS

LFS

REVISIONS

6,/02/20 |UPDATE TO 2018 IBC/IRC CODE

1

NO| DATE

oATE: 9/14/16

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4637

SHEET _3 oF 10

© 2016 R.W. BUILDING CONSULTANTS INC.



"ON|] SINVLINSNOJ gaNIa1ing ‘Mm'd 9102 @

ZS8LL—4 # NOLVMLSIORY 40 3LVOLJILNIO e SNOISIAIS T o
SHIIANIONI TYNOISSIJ0ON¥d 40 Quvos SvXal 1 ©
SNOLLYAT 3 , ©o| . o
T —— S41| 3000 0¥i/081 810z Ol 31¥ddn| 02/20/9 | L || |% 2 5 r_
66558 14 ©2UIPA DEZ Xo8 "O'd \§ ‘ATBW3SSY ¥0 Livd <+ M .98
"ONI ‘SINVLINSNOD ONIaTing \&. N 2 | 4_ 5
¥00a 7331S o |&5|&5|g &
nN—..vO_.* ‘3°'d SvX3l MZOW QZ< WM\/MHW i M_ S| = m
‘3°'d ‘PlWyss ‘4 uopukq :Ag pedodesd sjuswinooQ :10N3J0Yd W SI1ZE|& m &
Groml STLIOL
\ Q ARG LITTR PO
\.ﬂ:‘._.m@....m.n.u.m.m. ‘Rmﬁz.ﬁ Wx N
\ ..~ .ot-q.o%um\.z
H¥ 2 74 Sz
Ty S, v
~ L\to.nb as® V&,J! v ™
f@%& uo.mvé‘.n.:oc = — v
TSy NN N < |0 “~
E— PN @
=
°po 7
PN =] &
™ )
~
@ S
z
> @) w
T
XS
O
____D __ __ __
e ®) >
Sep— y— —— ——= 2|

™S

P
D
ELEVATION (XO / OX)
CONTINUOUS HEAD & SILL

v

0
N
©
p
)
N

N
X
ELEVATION (X

@

#-€ 'BMp’2e91-X 1 \sBuimelq - D\sioo( [931s anbedQ €&t Wa\|9915-s100Q pabulH\su| Jo 3daq sexa| - g\lUauBWIad - SUOS PUe SaAIS\SIUBID\Y



0.15"
—=| }=— CSINK

EXT. SHEATHING \ CP (TYP)
0.15" @
C'SINK - EXT. SHEATHING
(TYP.) /_

ey

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

®

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595,

Documents Prepared By

Phone No.:

1. Sidelite ass'y fasteners located
6" from each end plus 3 more
screws equally spaced between
(5 screws total per jamb).

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

I/
\\

!

DRYWALL / @é é \@ O INTERIOR ) T~ pEvmAL

wn
=
S
e | 8
SEE NOTE 1 5% o
a §
o8 |..
{1\ HORIZONTAL CROSS SECTION (2" HORIZONTAL CROSS SECTION <o g S
W Inswing shown - outswing also approved \\5/ Inswing shown - oufswing also approved EL&J § 2
= Q %
51 xl N
e 2l 2
0.15" o &
C'SINK ——{ j=— ol

TYP,
) _ (VP @ s EXT. SHEATHING

SEE NOTE 1 ®\\ N
o @ 0 @ SEE NOTE 1
| EXTERIOR , EXTERIOR 7

A\

\\

REVISIONS

7711717 /'//////.,'

A\

6/02/20 |UPDATE TO 2018 IBC/IRC CODE

T«'\“\‘\‘\‘mm«.- 7771117, "’MW
? \NNAT 725 /t Lot

1

NO,| DATE

@)

= \
2 (19 INTERIOR 4 s A DRYWALL
é \@\‘ - @) @é ® INTERIOR (\@\

oaTE: 9/14/16

ScALE:  N.T.S.
5 \HORIZONTAL CROSS SECTION owe. BY:  JK
3 "\ HORIZONTAL CROSS SECTION /4" HORIZONTAL CROSS SECTION (5 \Hol e
@ Inswing shown - outswing also approved \y Inswing shown - outswing also approved W Inswing shawn - outswing s dpproved CHK. BY:  LFS
DRAWING NO.:
TX—4637

SHEET _5 oF 10

R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Steel\DR 433 Opaque Steel Doors\C - Drawings\TX-4637.dwg, 3-5

© 2016 R.W. BUILDING CONSULTANTS INC.



"ON| SINVLINSNOJ aNIaing ‘m'sd s Loz @

ZS8LL—4 # NOLVALISIOFY 40 3LVOIHILNID T SNOISIAJS T TEN
SYFIANIONA TVNOISSIA0dd 40 QuvOS SwX3L © o
SRS s Foh Sl SHO2 mm.omo i S471] 3000 2di/2dl 810z 01 3ivadn| 0z/zo/9| | J nlx % g rf
GBGEEE 14 OSUIDA OEZ %68 0°d \ﬁ\w@, "A1W3SSY 0 Lyvd ¥ _M 5 ©|s
"ONI ‘SINVLINSNOO ONIaTINg N z | 6_
d00d 1431S ) 5lEle X
£ZL¥OL# *3'd SvXal SNOS ONV S3A3LS bl ey z B
‘3'd ‘WPIWYSS ‘4 UOPUA]  :Ag pedpdeld sjuswinooq :10N00Yd HEARERES %
5 ...... www._
u... =
2 Y
] e
B romes e
oOF fr i
%, ...th.
o, Sp e
K% -t h-
#ﬂw.%.\ 40 mv o L
VR L@
o 2
© O
= O
-
- | 0. O
3
oz -~ el
@) a8
o kS
L O|5
= | D
<= () ..m
e 5¥ g
Zz W (O ]R=
52_ &2
IsZ >0
-~ Ow O
< & o™ [~
I =g
O =
Z w oD z
Z 50
= o ow§
ZazO
| O
z % ®
b2 ("dAL) <
= ~=—INIS.D L
/ WSO
=
o 9
O Uly
~ (a4 W &
I
> A=
[ gl
() mw
=l O =
<|c 2
/ Vloa
N Skt
—_— 529
Cy T L >\ £
\ X\ U
- |0
= S
(=) % © s
= L
> =
& Z
Lt
i
oz
O
z
O
@)
S @/ o nNu
m _ =
: 0
sl & S
< JE=
Q|c
(=]
_ul@
p = X | S
O <(S
& z4  d5
59, ES
- £z Wz
] m m _AHU >\
= \ < mrw M mw
- 0>
o g9
w 2D Z
T
0%0o
o ZwxO
O
%
Ll
[—
Z

9-¢ 'Bmp’Le9p-X1\sBuimelq - D\si00q [2315 anbedQ £ Ya\|9315-5100Q pabuiH\su| jo 3daq sexa] - g\}UdUBWIS - SUOS Pue SAAIS\SIUBID\Y



"ON[ SLNVLINSNOJ aNIging "Mm's o102 @

mmmw:lu # NOLLVALISIOZY 40 3LVOIJILYIO g SNOISIATY 31V TON

33NION3 TVNOISS340dd 40 Q¥vog SvxX3l . ©O o
P —— SNOLORE" 5805 Ol S47| 3000 0¥1/081 810z OL 31vadn| 0z/20/9] | NIES 2 5 1_
: o X18W3SSY ¥0 Lavd =T 98

S6SEE "1d O9HIDA 0£Z Xog ‘O'd \N\w@. Y = T
*ONI ‘SINVLINSNOD ONIaTINg AN g | 7_

4000 733LS o |E|Ele X
SZLYOL# ‘3'd Svxal SNOS AONV S3A3FLS vl =] o | ¥ = ]
‘3°'d ‘Plwyss 4 CO?C\AJ n\nm UO._UQDL& sjuswinooqg ._.ODOOW_H_ W m W m W M

S oezivpL 4
Feereesettancstacantestns LYTTIRTYS ﬂ.al.\.

~
m LCIWHOS 4 NOGNAT M

sesn
sescace ®0ecosouoase ¥489s00cmnacs L]

A3 afod
¢ a s XN
98 : Ly
G, S, S SR
b, b, RO

e

P ) CONCRETE

7“3\ VERTICAL CROSS SECTION

w Outswing configuration

.
@
W
;)
I{f
'y fasteners located 3" from
J ) WOOD

each end plus 1 more located 6" from
mullion (3 screws total per head/sill)

NOTE:
Sidelite ass
INTERIOR

1.

\\

EXT. SHEATHING

SEENOTE 1

EXTERIOR

('dAL)
\ / @ I |
me

\

g

EXTERIOR

also approved

7“1\ VERTICAL CROSS SECTION
w Inswing shown - outswing

®

INTERIOR

DRYWALL —\

SEE
NOTE 1

EXTERIOR

7 SV

\\
|

i
,././///,.//&///‘/ WA
N

o | BN

m VERTICAL CROSS SECTION

\\7J Inswing configuration

SEENOTE 1

INTERIOR

L-€ 'Bmp’2£9p-X 1\sBumelq - D\siooQq (9815 anbedQ £ ¥a\[931S-5100Q pabuiH\su| jo 3daq sexa) - g\IusuBWIa - SUOS pue saAa15\sualD\:y



"ON| SLNVLINSNOJD aNIg1ing "Mm'sd 910z @

vg8LL—d # NOLLVMISIOZN 40 3LVOIILNID = SNOISIASY
SH3IINIONI IVNOISS340¥8d 40 Qy¥vOo8 Svx3l 31vad [ON o
INIHOHONY ©o|
T ap— by A S471| 3000 0dI/08l 810z 0L 31vadn| 0z/20/9] | g x v 5 1_
z . — L
S6SES 14 OOWIPA 0EZ Xo8 ‘O°d \a\w@. ‘ATBN3SSY ¥0 Luvd o L Q|°
"ONI ‘SLNVLINSNOO ONIGTINg = g | 8_
4004 733LS of [5]E]le X
SZLYOL# "3'd SvXal SNOS ANV S3AJLS MEIRIME G
‘3'd ‘PIWYDS 4 uopuk :Ag peJdode.d sjuswnoo(q 119Na0Y¥d W w W m W M
o’ N "-
FEe %% ® E
Deiisdeses EZiv0 % a
......... csea =
g LaIWHOS - v - 3 =
ﬁ..-- .......... M L-m;.ZODZ}:— “ m m
.o.Q ¥y mesemennd o /. \_\ = -
0 ¥ % s TL BN —r] D Q
G, o MMW Sudy N L) ~N & h
N&Ma\”w.}:. ; ..o..hm/‘&\h‘b( ' T TT _. m M =
AR = = &
#ﬂa»;.»..?)..z..(:. w Q
V/ : =
3 =
=
(® S
=
=
=
o
~ m | L (dAL) 00
h A i XYW .71 _
@)
z - Z
C 1 [ [ [ _ _ Sz
=z = 5n0
O ‘4’ - 20
- B A
2 =

(TYP.)
N
|
FRAME ANCHORING
XO /OX

HEAD & JAMBS
(TYP.)
WOOD

by
—
—
——

=t

DOOR
FRAME

”\
NOTE: JAMBS ATTACHED TO HEAD/THRESHOLD
w/ (3) #8 X 2-1/2" FH WOOD SCREWS EACH (TYP.)

FRAME ANCHORING

iﬂﬁll >

o
e
e
°

STRIKE JAMB

L (dAl) _ N /N oY)
7 W | | XvW.L

4"

(TYP) |

|

HEAD & JAMBS
(TYP.)

=
=y
R
by
et

(\

RECORD (TYP.)

THE ENGINEER OR ARCHITECT OF
1

2X FRAMING TO BE DESIGNED BY

DOOR __/

FRAME
= 0.42)

WOOD (S.G. >

Celo Ce®o Celo

:m.m _ n _.m I :_.m” |

CONCRETE (MIN. 3000 PSl)

HINGE JAMB

FLOOR SUBSTRATE MATERIAL (TYP.)

8- 'Bmp’2e9p-X1\sBuimelq - H\si00( [983s anbedQ ££p Ya\1291s-s100q pabuiH\su| jo 1dag sexa] - g\1usuewiad - SUOS pue saAd)S\siuald\'y



"ON| SLINVLINSNOJ 9NIg1ing "M's 9102 @

wmwwh_rlu # NOLLVMLSIORN 40 FLVOL4ILNED 3 SNOISIASY
ON3 “TVNOISS340¥d 40 Q¥vod Svxal 31vd [ON o
ONIYOHONY NV g
ARG POk ey S41| 3000 2¥I/8I 810z OL 31vadn| 0z/20/9| | ||| e B 7_
GB6SES 14 OOMIDA 0£Z Xog .O.m&@ ‘A18W3SSY 30 1dvd <+ = = o nAOr 5
*ONI ‘SINVLINSNOO ONIaTINg oy = 2 1 9_
¥00Q 133LS o |1&5|Ele &
SZIYOL# "3'd Svxal SNOS ANV S3A3LS AEIFIN &
‘3'd ‘IPlWYDS ‘4 uopuk :Ag peJdpodesd sjuswnooq :10Na0¥d W m W W m M
. ~ g
® 2
Q
S s :
\ /] & 2
/‘ A — - ~ w Q
N LR & N =
; B O ¢ N D A
= 3 :
e aQ
a
/A‘ 2 =
3 =
(2 3
=
=]
=

IJ W_HI WSS

T - . . . . .

STRIKE JAMB

— vy

| . (dAl) o0
; ; XYW F1

NOTE: JAMBS ATTACHED TO HEAD/THRESHOLD
w/ (3) #8 X 2-1/2" FH WOOD SCREWS EACH (TYP.)

=z
@) o
== B = > .5
2 _— OZFio
z > N
FU/MDM
k=== — w =z
|
;o
™ > » i L)
£z OCF. :
|A.W (7] og
- o w & mm
%] O I = M/
2 o & 2
< — = Clie
Sl O 2
o8 > O M
et wll\ — o,
\/\ %

RECORD (TYP.)

THE ENGINEER OR ARCHITECT OF
7
I
|

2X FRAMING TO BE DESIGNED BY

DOOR /|
FRAME

WOOD (S.G. >=0.42)

e Ce®e

._—.m“ | :_.m |

CONCRETE (MIN. 3000 PSl)

ek

W6

HINGE JAMB
FLOOR SUBSTRATE MATERIAL (TYP.)

6-€ 'Bmp’Le9p-x L\sBuimelq - D\s1o00( [931s anbedQ £ Wa\[931S-5100Q pabuiH\su| 0 3daQ sexa] - g\lusueWIad - SUOS pue SaAdIS\SIUBID\:Y



R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Steel\DR 433 Opaque Steel Doors\C - Drawings\TX-4637.dwg, 3-10

|

fe———— 4 54" ———— ]

1.25"

e

=

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

B | 2X FRAMING (G >= 0.42) WOOD

C | 1/4"MAX. SHIM SPACE :

J | #10X 3" PFH WOOD SCREW STEEL

L | #10 X 2-1/2" PFH WOOD SCREW STEEL

M | #8 X 2-1/2" PFH WOOD SCREW STEEL

N | #8 X 3' PFH WOOD SCREW STEEL

P | 1/4"PFH ELCO OR TW CONCRETE SCREW (1-3/4" MIN. EMB,) STEEL

1| JAMB - FINGER JOINT PINE (SG >= 0.42) WOOD

2 | MULLION - PINE (SG >= 0.42) WOOD

3 |INSWING THRESHOLD ALUM/COMP.
4 | OUTSWING THRESHOLD ALUM/COMP.
5 | INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP.
6 | OUTSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP.
7 | WEATHERSTRIP (Q-LON] FOAM

8 | DOOR SWEEP PVC

9 | 4"X4"HINGE STEEL

10 | #10X 1" PFH WOOD SCREW STEEL

11| #10 X 3/4" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
50 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

N. | MIN. CLEARANC

- EDGE AN

W - ,. . .
TAPCON® [ 1/ 1-3/4 1-1/ 4

ELCO - - ,, .
ULTRACON®| 174 1-3/4 1 4

0.75"

@ FINGER JONT PINE JAMB

2.5

4.5¢"
L

|<~ 1.5" —’-l

( : ) MULLION

3 INSWING THRESHOLD

AFCO

_

1.84"

5.62"

CEB/MSW'NG THRESHOLD
w/ SIDELITE ADAPTER

33: r 1.75" ‘(

—= 089"~

4 OUTSWING THRESHOLD
AFCO

1.38" =

-

4.55"

3 OUTSWING THRESHOLD
w/ SIDELITE ADAPTER

- Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

%)
=
2x | o
Q ==
o8 g
<, |3 Om
[ m| Q.
(1] S =So
W= w o=
o |9 o<
~ <
o o
O
2 o
S &
& 5
D>
] [o2)

6/02/20 |UPDATE TO 2018 IBC/IRC CODE

NO.| DATE

1

REVISIONS

OATE: 9/14/16

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4637

sHeer 10 oF 10

© 2016 R.W. BUILDING CONSULTANTS INC.



